[bookmark: _GoBack]About Mu Sigma:-

Mu Sigma works with market-leading companies across multiple verticals, solving high impact business problems in the areas of Marketing, Supply Chain and Risk Analytics. With over 25 Fortune 500 clients and over 800 analytics professionals, Mu Sigma has disrupted the analytics industry by integrating the disciplines of business, math, and technology in a sustainable global delivery model. Further, analytical assets developed by Mu Sigma's innovation and development team ensure a competitive edge to clients. Mu Sigma is head-quartered in Chicago with its main delivery center in Bangalore, India and is arguably the world's largest pure-play decision sciences and analytics services company.

Why Mu Sigma- Why Shold i join Mu Sigma?

Mu Sigma, in a short time span has created various and diverse career paths for talented employees. With a wide array of resources, our employees can proactively manage their professional and personal growth. You will work with and learn from the best in the industry and be challenged every day.

Mu Sigma's highly talented professionals deploy advanced analytics tools and techniques coupled with deep domain expertise to solve complex business problems. Mu Sigma cater to some of the largest Fortune 500 companies across different industries such as Pharmaceuticals and Healthcare, Financial Services, Insurance, CPG and Retail.

Welcome to MU Sigma Placement Paper 2011. Here you will find MU Sigma Placement Paper Pattern and Download questions with Answers & Solutions.

MU Sigma Placement Paper 2011:-

1. What is the output of the following code?
x=0;y=1;
for(j=1;j<4;j++){
x=x+j;
y*=j;
}

2. There is a 200 miles long tunnel. one train enters the tunnel at a speed of 200mph while the other trains enter the tunnel in the opposite direction at a speed of 1000 mph. A bee travels at a speed of 1500 mph enters the tunnel goes to and back until it reaches the train. What is the distance covered by the bee when the two train collides (the bee survives)

3. List the two advantages of views.

4. Which layer is encryption and decryption done

5. What are the various modes used to send data over the network

6. Write a query to display the name of the students whose total marks is divisible by 25 (total marks may be 175, 200, 150...)

7. P(S1)
a++;
P(S2)
v++;
V(S2)
V(S1)
P-wait, V-signal, S1 and S2 are semaphores. Consider two threads running. Is there a deadlock .If yes in which situation does the deadlock occur.

8. How do you find the port number of the remote host?

9. (Date; who)>logfile

Date; who>logfile
What is the difference between the two statements.

10. How do you find the machine MAC address


A) 0 
B) 8 
C) 16 
D) 32

Ans. A


11. How many children did not try any of the rides. ?

A) 5 B) 10 C) 15 D) 20 

Ans. 15.

12. kids * 3 rides = Rs. 60

(55-20=)35 kids * 2 rides = Rs. 70
60 + 70 = Rs. 130
So, Rs. (145 – 130 = ) 15 are left for the other (85 – 55 = ) 30 kids . so only 15 of them can take a ride and rest 15 will be left out.
145 rides were taken. 20 of them took all three, i.e. Rs. 60 were spent, so 145-60= Rs. 85 are left for the others. Total kids were 85, so rest were 65. out of these 65, 


12. How many children took exactly one ride?

A) 5 B) 10 C) 15 D) 20 

Ans. 15

13. Four cities are connected by a road network as shown in the figure. In how many ways can you start from any city and come back to it without travelling on the same road more than once ?

A) 8
B) 12
C) 16
D) 20

Ans. 12. 

Consider the top city, the following are the 3 routes possible, starting from the leftmost edge. Since there are 3 edges emanating from each city and the figure is perfectly symmetrical, these 3 routes are possible from each edge, hence for any given city, the total number of routes = 4 * 3 = 12. 

14. Directions for question nos 14 to 15

A, B, and C are three numbers, Let
@(A, B)= Average of A and B
*(A, B)=Product of A and B
/(A, B)=A divided by B

15  If A=2 and B=4 the value of @( / (*(A,B),B),A) would be 

A) 2 
B) 4 
C) 6 
D) 16

Ans. 2 

16. Sum of A and B is given by

A) *(@(A, B), 2) 
B) /(@(A,B),2) 
C) @(*(A,B),2) 
D) @(/(A,B),2

Ans. A.

17. Let x<0, 0<y<1, Z>1 which of the following is false:

A) (x2-z2)has to be positive.
B) yz can be less than one.
C) xy can never be zero
D) (y2-z2) is always negative

Ans. A.

18. If A's income is 25% less than B's ,by what % is B's income greater than that of A ?

A) 35% 
B) 25% 
C) 30% 
D) None of these

Ans. D.

Directions for Questions Nos: 19 to 20

Kya-Kya is an island in the south pacific .The inhabitants of Kya-Kya always Answer any question with two sentences, one of which is always true and other is always false.


19 You are walking on a road and come to a fork. You ask the inhabitants Ram, Laxman, Lila,”Which road will take me to the village?”
Ram says,”I never speak to strangers. I am new to this place” 
Laxman says,”I am married to Lila. Take the left road”.
Lila says,”I am married to ram. He is not new to this place”
Which of the following is true?

A) Left road takes you to the village
B) Right road takes you to the village
C) Lila is married to laxman
D) None of above

Ans. A.

Ram said he never talked to strangers, but he spoke to a stranger, this meAns that this statement is false, hence his other statement must be true, hence the second statement of Lila is false, hence her first statement is true that is she is married to ram, hence the first statement of Laxman is false, hence his second statement is true, that is take the left road.

20. You find that your boat is stolen.You question three inhabitants of the island and they reply as follows:
John says,”I didn't do it. Mathew didn't do it”
Matthew says,”I didn't do it. Krishna didn't do it.”
Krishna says,”I didn't do it .I don't know who did it.”

Who stole your boat?

A) John
B) Matthew
C) Krishna
D) None of them.

Ans. B
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1. A puts a share of 1/3, B puts a share of 1/2, and the remaining share is put by c,and start a business their total profit is Rs 4800, what is the share of A?

2.  what is the remainder of (3682*3684*3686) divided by 19?

3. Mr. loyd wants to fence his Square shaped land of 120 Sqft each side.If apole is laid every 12ft how many poles do he need?

4. if 105 is represented as 253 in base 6,how is 253 represented in base 6?

5. the cost of 5 chairs and 3 mugs is Rs 1900, and the cost of 8 chairs and 5 mugs is Rs 2900, what is the cost of 5 chairs and 8 mugs?

6. Mr Roy found an old bill which shows that he brought 10 hens for Rs_67.92_ the first and the last digits were missing. what was the cost of each hen?

7. In a school football team the captain was the eldest of all with ,the next was the goal keeper with 26, in a particular match both the players were shown red cards. the average age of the remaining people raised by? what was the average age of the team.?

8. Which of the following is false

(a) QA is a process defined to attain Quality Standards
(b) QC is testing of the product during its production workflow
(c) A Test case could contain many Test PlAns.
(d) A Test Plan could contain many Test Script & Test Cases

Ans. c

9.  A Printing Machine that trAnsfers impressions from Flat Plate to Rubber Cylinder, thence to paper is called

(a) Laser Printer
(b) Press, Offset
(c) Digital Printer
(d) All of the above

Ans. maybe Offset

10. Printing process in which ink is applied to paper or board from raised portions of printing plates or type is called:

(a) Printing, Letterpress
(b) Printing, Flexographic 
(c) Printing, Silk screen 
(d) None of the above

Ans. maybe letterpress

11. Yellow (lemon), Magenta (cold red), Cyan (blue-green) are the three 

(a) Process Colors
(b) Monitor Colors
(c) Special Colors
(d) Spot Colors


12. Leading specifies:

(a) The space between the lines in a paragraph.
(b) The space between the base of a line to the base of the following line in a paragraph.
(c) The space between the top of the X height and the bottom of the X height of the following line in a paragraph
(d) The space between the beard of the top line and the beard of the bottom-line.


13. Which is a typical page layout program out of the following software products:

(a) Adobe Photoshop
(b) Adobe PageMaker
(c) Macromedia FreeHand
(d) Macromedia Director

14. what does the hexanumber E78 in radix 7.
 
(a) 12455 
(b) 14153 
(c) 14256 
(d) 13541 
(e) 131112 

Ans: (d) 

15. Q is not equal to zero and k = (Q x n - s)/2 find n? 

(a) (2 x k + s)/Q 
(b) (2 x s x k)/Q 
(c) (2 x k - s)/Q 
(d) (2 x k + s x Q)/Q (e) (k + s)/Q 


16. If B occurs which must occur 

(a) D 
(b) D and G 
(c) G and H 
(d) F and G 
(e) J ans: (a) 

18. If J occurs which must have occured 
a) E 
(b) either B or C 
(c) both E & F 
(d) B 
(e) both B & C 

Ans: (b) 

19. which may occurs as a result of cause not mentioned 

(1) D (2) A (3) F 

(a) 1 only (b) 2 only (c) 1 & 2 (d) 2 & 3 (e) 1,2,3 

Ans: (c) 

20.. E occurs which one cannot occurs 

(a) A 
(b) F 
(c) D 
(d) C 
(e) J 

Ans: (b)
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1. Q is not equal to zero and k = (Q x n - s)/2 find n?

(a) (2 x k + s)/Q
(b) (2 x s x k)/Q
(c) (2 x k - s)/Q
(d) (2 x k + s x Q)/Q (e) (k + s)/Q


2. If B occurs which must occur

(a) D
(b) D and G
(c) G and H
(d) F and G
(e) J ans: (a)

3. If J occurs which must have occured
a) E
(b) either B or C
(c) both E & F
(d) B
(e) both B & C

Ans: (b)

4. which may occurs as a result of cause not mentioned

(1) D (2) A (3) F

(a) 1 only (b) 2 only (c) 1 & 2 (d) 2 & 3 (e) 1,2,3

Ans: (c)

5.. E occurs which one cannot occurs

(a) A
(b) F
(c) D
(d) C
(e) J

Ans: (b)

6. Yellow (lemon), Magenta (cold red), Cyan (blue-green) are the three

(a) Process Colors
(b) Monitor Colors
(c) Special Colors
(d) Spot Colors


7. Leading specifies:

(a) The space between the lines in a paragraph.
(b) The space between the base of a line to the base of the following line in a paragraph.
(c) The space between the top of the X height and the bottom of the X height of the following line in a paragraph
(d) The space between the beard of the top line and the beard of the bottom-line.


8. Which is a typical page layout program out of the following software products:

(a) Adobe Photoshop
(b) Adobe PageMaker
(c) Macromedia FreeHand
(d) Macromedia Director

9. what does the hexanumber E78 in radix 7.
 
(a) 12455
(b) 14153
(c) 14256
(d) 13541
(e) 131112

Ans: (d)

10. In a school football team the captain was the eldest of all with ,the next was the goal keeper with 26, in a particular match both the players were shown red cards. the average age of the remaining people raised by? what was the average age of the team.?

11. Which of the following is false

(a) QA is a process defined to attain Quality Standards
(b) QC is testing of the product during its production workflow
(c) A Test case could contain many Test PlAns.
(d) A Test Plan could contain many Test Script & Test Cases

Ans. c

12.  A Printing Machine that trAnsfers impressions from Flat Plate to Rubber Cylinder, thence to paper is called

(a) Laser Printer
(b) Press, Offset
(c) Digital Printer
(d) All of the above

Ans. maybe Offset

13. Printing process in which ink is applied to paper or board from raised portions of printing plates or type is called:

(a) Printing, Letterpress
(b) Printing, Flexographic
(c) Printing, Silk screen
(d) None of the above

Ans. maybe letterpress

14. A puts a share of 1/3, B puts a share of 1/2, and the remaining share is put by c,and start a business their total profit is Rs 4800, what is the share of A?

15.  what is the remainder of (3682*3684*3686) divided by 19?

16. Mr. loyd wants to fence his Square shaped land of 120 Sqft each side.If apole is laid every 12ft how many poles do he need?

17. if 105 is represented as 253 in base 6,how is 253 represented in base 6?

18. the cost of 5 chairs and 3 mugs is Rs 1900, and the cost of 8 chairs and 5 mugs is Rs 2900, what is the cost of 5 chairs and 8 mugs?

19. Mr Roy found an old bill which shows that he brought 10 hens for Rs_67.92_ the first and the last digits were missing. what was the cost of each hen?

Interviewed Sep 2011 (took a day) 
The recruitment process started with a presentation detailing the company profile, job profile, offer, compensation, etc. After that an Aptitude Test which was of moderate difficulty. It was easy to pass. Then a GD. I don't remember the topic. Don't fight in the GD. Its quality that matters, not quantity. So speak some good points with confidence and relevance. And the final part, the interview. It started with general HR question and then the interviewer asked me a puzzle which was really tough. I was able to crack it after some 15 minutes. Be frank in the interview. An example - My academics were not good and I told them that I don't like my branch. 

Interviewed Dec 2011 (took a day) 
1. Screening test : 20 Q. (10 basic mathematical aptitude + 5 Critical Reasoning + 5 Very simple DI questions).
2. Selected about 70% students for the GD round.
3. Two rounds of interviews. (Puzzles + Case study).
Interviewed Oct 2011 in Bangalore (India) (took a day) 
First , we had a PPT in the beginning in which they explained everything about the company and the compensation package. Then, we had an Aptitude test soon after. After the aptitude test we had a GD round on the topic "Narendra Modi as the prime Minister of india".
After the GD round, I had a skills interview round in which they asked some questions based on probability, speed-distance-time, puzzles etc, etc..
The last round was the HR interview. So, in all it took a whole day for the interview process.

Interview Questions
why do you want to join mu- sigma?
Answer Question 
As, i had mentioned in my resume something about counter strike, so the interviewer asked me the names of all the different guns, pistols and rifles.

solve this puzzle.:if you have a page which burns out in 60 min,how will you measure a time of 52.5 minutes?

	[image: http://www.collegekhabar.com/images/spacer.gif]



			 
	NIT Rourkela: Mu Sigma recruited 12 students | Placement paper Available

	 
	 

	 
	NIT Rourkela News Network
Collegekhabar.com
November 13th, 2009
 

 
 
Mu-Sigma visits NIT Rourkela with CTC of 3.3 and recruited 12 student  
 
Date of visiting campus: 12th November 2009
 
 
Offer by the company:
 
	Eligibility
	All Branches 

	Salary
	CTC- 3.30 LPA

	Profile Offered
	GET

	Location
	Bangalore


  
Placement Process Details: 
	Procedure
	Status
	Comments

	Short listing
	No
	--

	Written Test
	Yes
	Yes Aptitude 

	Group Discussion
	Yes
	--

	Interview
	Yes
	 Interview was purely HR.

	Result
	Available
	 12 students got the offer


 
The process followed by Mu Sigma was:
1) Written test (Aptitude)
2) Group Discussion
3) Interview
 
 
Written test: 
 
 
There were 16 aptitude questions given for 20 minutes. 
 
1. 2 containers labeled A and B are filled with red and blue marbles in given quantities: - 
Container                               RED                                 BLUE
A                                              6                                  4
B                                              60                                 40
Each container is shaken vigorously. After choosing 1 of the container, without looking, draw out a marble. From which container you have the max probability of choosing a blue marble?
Ans. – (a) Container A (6 red, 4 blue)
          (b) Container B (60 red, 40 blue)
          (c) Equal chances from each container.
-------------------------------------------------------------------------------------------
2. The school committee of a small town wanted to determine the average children per household of the town. They divided the total no. of children in the town by total no. of households. Total no. of households = 50. Which of the following statements must be true if the average children per household are 2.2?
Ans.- (a) Half the households in the town have more than 2 children
           (b) There are total of 110 children in the town.
           (c) More households in the town have 3 children than have 2 children.
          (d)  The most common no. of children in a household is 2.
3. For 1 month, 500 elementary students kept a daily record of the no. of hours of watching television. The average no. of hours per week spent watching television was 28hours. Researchers conducting the study also obtained report cards for each of the students. It was found that the students, who did well in school spent less time watching television and those who spent more time, did poorly. Listed below several possible statements concerning the research.  Place a check on the statement that is definitely not true.
Ans.- (a) The students who watch television more performed poorly.
           (b) If the students will not watch television their performance will improve.
 
-------------------------------------------------------------------------------------------------
4. When 2 dice are simultaneously thrown, is it possible that one of the ____ occurs. Result 1: A 5 and a 6 are obtained. Result 2:  A 5 is obtained twice. Select the response that you agree with the most.
Ans.-   (a) The chances of obtaining each of these results is equal.
          (b) There is more chance of obtaining result 1.
          (c) There is more chance of obtaining result 2.
          (d) It is impossible to give an answer. (Please explain why)
-------------------------------------------------------------------------------------------------

5. When 3 dice are simultaneously thrown, which of the following would be obtained?
 Ans.- (a) Result 1: “A 5, a 3 and a 6”
            (b) Result 2:” A 5 three times”
           (c) Result 3:”A 5 twice and a 3”
           (d) All three results are equally likely.
-----------------------------------------------------------------------------------------------
6. A teacher wants to change the seating arrangement in the class in order to improve the no. of comments given by the students in the class. She 1st decides to change the seating arrangement of the students in the class. The no. of comments made by 8 students during a period are given below:
Serials                  A.A        R.F        G.H       D.C       A.F        C.M       S.S        C.G
No. of comments    0          5          2          22         2          3          4          1
What should be the method adopted by her to get the accurate results.
Ans.- (a) Throw out the 22, add up the other 7 no.s and divide by 7
           (b) Throw out the 0, add up the other 7 no.s and divide by 7
             © Add the 8 no.s and divide by 8.
             (d) None of these.
-----------------------------------------------------------------------------------------------
 
7. A new medicine has been developed and its effectiveness has been determined by carrying out an experimental study. 30 patients were divided into groups of 20 and 10. The group having 20, were given medicine while the other group dint get any medication. The results obtained where as follows:-
 
                        Medication                     Non-medication
Improved               8                                          2
Unimproved          12                                          8
Based on data, I think medication was:-
Ans   (a) somewhat effective as in 8 patients improved while in other only 2 improved.
        (b)  Basically ineffective because difference between improved and unimproved where 6 and 4 respectively.
        (c)  Basically ineffective because in the control group, also 2 patients improved without taking any medicine.
       (d) Somewhat effective because 40% of the students improved in medication (8/20), and only 20% improved in case of control (2/10).
-------------------------------------------------------------------------------------------------------
 
 
Interview Questions: Mostly HR related
 
 
1) Tell me something about yourself and started to grill on the basis of the resume. 
2) Your strength and weakness, any 3?
3) Explain yourself?
4) Tell us about your hobbies?
5) Why Mu Sigma? What you know about Mu Sigma India?










Group Discussions
· [image: View first unread post]Kushboo’s views on sex is right or wrong 

· [image: View first unread post]Karunanithi vs Jayalalitha 

· [image: View first unread post]Students in Politics 

Probability that ants dont collide
Post a reply
Top of Form

Bottom of Form
First unread post • 3 posts • Page 1 of 1 
Probability that ants dont collide
[image: Unread post]by BITS » Thu Sep 15, 2011 9:42 pm 
There are three ants at the three corners of an equilateral triangle.what is the probability that they will not collide?
BITS 
  
Posts: 240 
Joined: Thu Jun 02, 2011 9:56 pm 
Karma: 0 
· GitHub 
Top

Re: Probability that ants dont collide
[image: Unread post]by Pragatigunas » Mon Jan 23, 2012 2:22 pm 
So let’s think this through. The ants can only avoid a collision if they all decide to move in the same direction (either clockwise or anti-clockwise). If the ants do not pick the same direction, there will definitely be a collision. Each ant has the option to either move clockwise or anti-clockwise. There is a one in two chance that an ant decides to pick a particular direction. Using simple probability calculations, we can determine the probability of no collision.

P(No collision) = P(All ants go in a clockwise direction) + P( All ants go in an anti-clockwise direction) = 0.5 * 0.5 * 0.5 + 0.5 * 0.5 * 0.5 = 0.25
Pragatigunas 
  
Posts: 1 
Joined: Mon Jan 23, 2012 2:03 pm 
Karma: 1 
· GitHub 
Top
what is the initial number of bullets?
Post a reply
Top of Form

Bottom of Form
First unread post • 1 post • Page 1 of 1 
what is the initial numbe of bullets?
[image: Unread post]by BITS » Thu Sep 15, 2011 9:45 pm 
some number of bullets is equally shared between 3.They fire some number of bullets.The remaining number of bullets what each had is equal to the initial amount reduced by 4.what is the initial numbe of bullets?

(x-a)(x-b)(x-c)………………….(x-z)=?
Bottom of Form
First unread post • 1 post • Page 1 of 1 
(x-a)(x-b)(x-c)………………….(x-z)=?
[image: Unread post]by BITS » Thu Sep 15, 2011 9:44 pm 
(x-a)(x-b)(x-c)………………….(x-z)=?



Re: Probability that ants dont collide
[image: Unread post]by AnnaUniv » Mon Jan 23, 2012 11:00 pm 
@pragatigunas:
What other ways can you think of reaching the same solution?
A another approach is discussed @ viewtopic.php?f=33&t=3787&p=4475

Make 50 using the given numbers
[image: Unread post]by CIT » Wed Feb 02, 2011 11:23 pm 
Make 50 by using any five numbers (with or without repetition) in the set { 35,3, 5, 17,13, 19,23,27}

· [image: http://gpl4you.com/images/noavatar_small.gif]
A bacterium doubles in a day. A bacterium is kept in a container. After 10 days the container is completely filled with bacteria. How much time will take to half fill the container?? 

(Musigma Question) 
last reply by saurabh  •  6 days ago  •  asked by Gautham Swami 
View Comments [7 Reply] 
· [image: http://gpl4you.com/images/noavatar_small.gif]
A new medicine has been developed and its effectiveness has been determined by carrying out an experimental study. 30 patients were divided into groups of 20 and 10. The group having 20, were given medicine while the other group dint get any medication. The results obtained where as follows:-

Medication Non-medication

Improved 8 2

Unimproved 12 8

Based on data, I think medication was:-

(a) somewhat effective as in 8 patients improved while in other only 2 improved.
(b) Basically ineffective because difference between improved and unimproved where 6 and 4 respectively.
(c) Basically ineffective because in the control group, also 2 patients improved without taking any medicine.
(d) Somewhat effective because 40% of the students improved in medication (8/20), and only 20% improved in case of control (2/10).

(Musigma Question)

last reply by saurabh  •  6 days ago  •  asked by Gautham Swami 
View Comments [4 Reply] 
· [image: http://gpl4you.com/images/noavatar_small.gif]
A teacher wants to change the seating arrangement in the class in order to improve the no. of comments given by the students in the class. She 1st decides to change the seating arrangement of the students in the class. The no. of comments made by 8 students during a period are given below:

Serials No. of comments 

A.A 0 
R.F 5 
G.H 2 
D.C 22 
A.F 2 
C.M 3 
S.S 4
C.G 1

What should be the method adopted by her to get the accurate results.

(a) Throw out the 22, add up the other 7 no.s and divide by 7
(b) Throw out the 0, add up the other 7 no.s and divide by 7
(C) Add the 8 no.s and divide by 8.
(d) None of these.
(Musigma Question) 
last reply by Varsha Nath  •  4 months ago  •  asked by Gautham Swami 
View Comments [1 Reply] 
· [image: http://gpl4you.com/images/noavatar_small.gif]
When 2 dice are simultaneously thrown, is it possible that one of the ____ occurs. Result 1: A 5 and a 6 are obtained. Result 2: A 5 is obtained twice. Select the response that you agree with the most.
(a) The chances of obtaining each of these results is equal.
(b) There is more chance of obtaining result 1.
(c) There is more chance of obtaining result 2.
(d) It is impossible to give an answer. 
(Musigma Question)

Q2). When 3 dice are simultaneously thrown, which of the following would be obtained?
(a) Result 1: “A 5, a 3 and a 6”
(b) Result 2:” A 5 three times”
(c) Result 3:”A 5 twice and a 3”
(d) All three results are equally likely.
(Musigma Question) 
last reply by anil thadani  •  12 hours ago  •  asked by Gautham Swami 
View Comments [2 Reply] 
· [image: http://gpl4you.com/images/noavatar_small.gif]
For 1 month, 500 elementary students kept a daily record of the no. of hours of watching television. The average no. of hours per week spent watching television was 28hours. Researchers conducting the study also obtained report cards for each of the students. It was found that the students, who did well in school spent less time watching television and those who spent more time, did poorly. Listed below several possible statements concerning the research. Place a check on the statement that is definitely not true.

(a) The students who watch television more performed poorly.
(b) If the students will not watch television their performance will improve.
(Musigma Question) 
last reply by Sanchit  •  4 days ago  •  asked by Gautham Swami 
View Comments [1 Reply] 
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